A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T:07 3897 5700

E: info@ecb.com.au

ABN: 25010 676 034
ecb.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

B3FU0035TSYF REPLACES: 30.08.21
FITTING INSTRUCTIONS REVISED: 10,0222
FUSO FK 2013-2019 DELUXE 3 TOWPIN BULLBAR

Stepl.

e Park Vehicle on level ground and apply park
brake.

e Remove bumper, discard bolts and bumper. Un-
clip the headlight surround panels.

Step 2.

e Remove two M10 bolts and one nut retaining the
bumper support bracket to the chassis rail.

e Repeat for other side. R —

e Discard all fasteners.

Step 3.

e Remove the Tow hook from under the chassis rail
on the passenger side.

e Remove the two M14 bolts and nuts from under

the chassis rail on the driver side.
e Discard all fasteners. \

Step 4.

e Lift Bonnet and locate the wiring for the
Indicators and Park lights.

e Wire in the supplied patch harness each side
using the supplied scotch locks.

Page | 1



A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T:07 3897 5700

E: info@ecb.com.au

ABN: 25010 676 034
ecb.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

Step 5.

e Remove the steel bullbar mount from the bullbar
and fit to the vehicle chassis and fasten using the
supplied,

e M10 x 35mm hex bolts, spring and flat washers
into the upper chassis rail captive nuts.

e 1-3/4” x1/2” hex bolts, flat washers and nyloc —
nuts.

e M10 x 35mm hex bolts, spring and flat washers
into the lower chassis rail captive nuts.

Step 6.

e Fit angle brackets under each side of the chassis
rail using 2” x 1/2” hex bolts, flat washers and
nyloc nuts.

e Fasten angle brackets to the steel bullbar mount
using 1-3/4” x 1/2” hex bolts, flat washers and
nyloc nuts. T

Step 7.
e Fit the bullbar to the mount and fasten using 3/4"
eye bolts and flat washers, leave slightly loose at

this stage. \ y

Step 8.

e Align the pivot point holes in the bullbar and the
chassis mount on each side and fasten

e using 2-1/2” x 9/16” hex bolts, flat washers and
nyloc nuts.

e Tighten hinge bolts on the bullbar so that the
alloy tabs just start to pull in,

e NOTE: Do not over tighten.

I

Page | 2



A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T:07 3897 5700

E: info@ecb.com.au

ABN: 25010 676 034
ecb.com.au Part of GUD Holding Limited - ASX: GUD

customalloy.com.au

Step 9.

e Align the bullbar with the vehicle and tighten all
fasteners.

e Check the tilt operation of the bullbar. Tighten
the eye bolts.

e Connect the patch harnesses to the bullbar
Indicator/ Park light assemblies and check
operation.

e Insert tow pin into tow into bullbar ensuring it
drops through the steel mounting bracket.

Step 10.

e Fit the bullbar tilt warning sticker to the
passenger side rear of the cab below the tilt cab
operation placard, adjacent to the tilt leaver.

Page | 3



A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700

E: info@ecb.com.au

ABN: 25010 676 034
ecbh.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

Fuso Fitting Kit list to Suit
P/N B3FUOO35TSY
Fuso FK 2013+

Quantity Length Diameter Thread Pitch Description
4 35mm M10 1.25 Hex bolts
4 M10 Spring washers
4 M10 H/D flat washers
4 2 inch 1/2 inch Hex bolts
6 1-3/4 inch 1/2 inch Hex bolts
10 1/2 inch Nyloc nuts
20 1/2 inch H/D flat washers
1 225mm Towpin
Additions
1 Fitting Instructions P/N FK133P
2 Tilt Bullbar Warning Stickers P/N Loom Custom 2
2 Patch Harnesses
4 Short Cable Ties
2 Angle Brackets
6 Scotch locks

SEAL IN CLEAR BAG, PLACE IN TOWPIN BOX
TAPE TO STEEL MOUNT

Attached to Bullbar

2 3/4 inch Eye bolts

2 3/4 inch Flat washers

2 2-1/2 inch 9/16 inch Hex bolts

2 9/16 inch Nyloc nuts

4 9/16 inch Flat washers

2 Narva 95202 LED Indicator / Park lights

Page | 4



A:29 Snook St Clontarf QLD 4019 Sk,
P: PO Box 122 Margate QLD 4019 T

T:07 3897 5700 cu
Au:

. . LI L)
E: info@ecb.com.au stralia’s Leading Manufa

ABN: 25010 676 034
ecbh.com.au Part of GUD Holding Limited - ASX: GUD customalloy.com.au

DESPATCH CHECKLIST
B3FUOO35TSYF

FUSO FK 2013-2019

Work Order: Photo of steel
Finish:
> mount on back of
Transport:
Due Date: PagEe
1 Steel Mounting Bracket
2 3” Overriders (CAO1 Plastic)
2 Custom Alloy Badges — Fitted to Overriders
2 LED Parker Lights (ICLED33INDPRK-95202CUST)
2 Angle Brackets
1 225mm tow pin — In Box with bolt kit
1 Steel Mounting Bracket — Fitted to Bar
2 3” Overriders (CAO1 Plastic with CA badges) — Fitted to Bar
2 Eyebolts (3/s” UNC ZP) and Washers — Fitted to Bar
2 2 %" x °16" UNC Bolt Grade 8H/T — Fitted to Bar
2 %/16” Nyloc Nut — Fitted to Bar
4 °/16” Flat Washer — Fitted to Bar
2 LED Parker Lights (ICLED33INDPRK-95202CUST) — Fitted to Bar
1 Bolt Kit — Taped to Mount
Is this product “the best it can be” Yes /

Wrapper’s initials / Checker initials

If NO fix before continuing

All parts checked and completed by:

Nut and bolts: Date /| [
Order control: Date /| [
Final wrap check: Date / [

Page | 5



ecb.com.au

A: 29 Snook St Clontarf QLD 4019
P: PO Box 122 Margate QLD 4019
T: 07 3897 5700
E: info@ecb.com.au

ABN: 25010 676 034
Part of GUD Holding Limited - ASX: GUD

customalloy.com.au

Page | 6



